

REQUEST FOR QUOTATION

(Deep cleaning of chairs, sofas, and mattresses)

The Embassy of the Republic of the Philippines in Jakarta, Indonesia intends to procure deep cleaning services for the chairs, sofas, and mattresses of the Official Residence

Please refer to the attached Terms of Reference (ToR). The Approved Budget for Contract (ABC) is IDR9,044,530.00 or approximately USD633.00, chargeable against UMOROER under LQA.

The Embassy invites all interested technically, legally and financially capable companies to submit their respective proposal for the procurement not later than 10 September 2021. The Embassy accepts open quotations submitted directly, through facsimile or email at the address and fax number given below:

Mr. JULIUS P. CALISIN Property Officer and Attaché

Jl. Imam Bonjol 8 Menteng Jakarta Pusat Indonesia

Tel. No. : 3100334 Fax No. : 3151167

Email : julius.calisin@dfa.gov.ph

This Request for Quotation shall be posted at the official website of the Embassy (https://jakartape.dfa.gov.ph/) and at conspicuous place in the premises of the Embassy. (Also, at PhilGEPS website if facility for overseas procurement is available

Jakarta, 03 September 2021

By Authority of the Bids and Awards Committee (BAC)

Cleaning of Sofa, Chairs, and Mattresses Breakdown of Computation

3-Seater Sofa (Dark Grey)	1	242,000.00	242,000.00
3-Seater Sofa (Grey)	1	242,000.00	242,000.00
3-Seater Sofa (Light Grey)	1	242,000.00	242,000.00
3-Seater Sofa (Light Grey)	1	242,000.00	242,000.00
3-Seater Sofa with pillow (White)	1	242,000.00	242,000.00
3-Seater Rattan Sofa with flower print	1	242,000.00	242,000.00
2-Seater Sofa (Gray)	2	181,500.00	363,000.00
2-Seater Wooden Sofa with Print	2	181,500.00	363,000.00
2-Seater Sofa with Print (Brown)	1	181,500.00	181,500.00
2-Seater Wooden Sofa with print (white)	1	181,500.00	181,500.00
2-Seater Wooden Sofa with pillows (White)	1	181,500.00	181,500.00
Wooden Chair, red cushion	2	60,500.00	121,000.00
Wooden Chair, red cushion	2	60,500.00	121,000.00
Uphostered Chair, Gray	4	121,000.00	484,000.00
Chair with armrest (Light Orange)	2	103,345.00	206,690.00
Office Chair with armrest (Blue Green)	1	102,245.00	102,245.00
Wooden Chair with Print	2	121,000.00	242,000.00
Dining Chair with Print	8	102,245.00	817,960.00
Upholstered Chair with Print (Brown)	2	121,000.00	242,000.00
Dining Chair with armrest (Orange Cushion)	12	60,500.00	726,000.00
Printed Wooden Chair with armrest (White)	3	102,245.00	306,735.00
Leather Chair (Brown)	1	121,000.00	121,000.00
Wooden Chair (Brown Cushion)	1	60,500.00	60,500.00
Wooden Chair with print (light brown)	2	60,500.00	121,000.00
Wooden chair (pink cushion)	1	60,500.00	60,500.00
Rattan Chair with flower print	2	121,000.00	242,000.00
Rocking Chair	1	60,500.00	60,500.00
Wooden Chair with print	2	60,500.00	121,000.00
Upholstered Chair (Orange)	1	121,000.00	121,000.00
Qeen Size Bed	3	399,300.00	1,197,900.00
King Size Bed	2	423,500.00	847,000.00

9,044,530.00

TERMS OF REFERENCE

- 1. The Quotation must be in IDR and for all of the items listed herein;
- 2. The prices quoted must be valid and not be subject to any changes;
- 3. The prices quoted shall be the final price and include all applicable taxes; and
- 4. The contractor must follow standard health protocols.

Deep Cleaning of Chairs, Sofas and Bed Mattresses

	Description and Photo	Quanti ty	Unit Price	Total Price
		Sofa		
1	3-Seater Sofa (Dark Grey)	1	IDR 242,000.00	IDR 242,000.00
2	3-Seater Sofa (Grey)	1	IDR 242,000.00	IDR 242,000.00
3	3-Seater Sofa (Light Grey)	1	IDR 242,000.00	IDR 242,000.00

4	3-Seater Sofa (Light Grey)	1	IDR 242,000.00	IDR 242,000.00
5	3-Seater Sofa with pillow (White)	1	IDR 242,000.00	IDR 242,000.00
6	3-Seater Rattan Sofa with flower print	1	IDR 242,000.00	IDR 242,000.00

7	2-Seater Sofa (Gray)			
		2	IDR 181,500.00	IDR 363,000.00
8	2-Seater Wooden Sofa with Print			
		2	IDR 181,500.00	IDR 363,000.00
9	2-Seater Sofa with Print (Brown)			
		1	IDR 181,000.00	IDR 181,000.00

10	2-Seater Wooden Sofa with print			
10	(white)			
		1	IDR 181,000.00	IDR 181,000.00
11	2-Seater Wooden Sofa with pillows			
	(White)			
		1	IDD 494 000 00	IDD 494 000 00
	101	1	IDR 181,000.00	IDR 181,000.00
	33.998			
		Chair		
12	Wooden Chair, red cushion	Chair		
	Wooden Ghair, red custion			
	TAT DAT			
		0	IDD 60 500 00	IDD 424 000 00
		2	IDR 60,500.00	IDR 121,000.00
13	Wooden Chair, red cushion	2	IDR 60,500.00	IDR 121,000.00

14	Uphostered Chair, Gray			
		4	IDR 121,000.00	IDR 484,000.00
15	Chair with armrest (Light Orange)			
		2	IDR 103,345.00	IDR 206,690.00
16	Office Chair with armrest (Blue Green)	1	IDR 102.245	IDR 102,245.00
	Green			

17	Wooden Chair with Print	2	IDR 121,000.00	IDR 242,000.00
18	Dining Chair with Print	8	IDR 102,245.00	IDR 817,960.00
19	Upholstered Chair with Print (Brown)	2	IDR 121,000.00	IDR 242,000.00

20	Dining Chair with armrest (Orange Cushion)	12	IDR 60,500.00	IDR 726,000.00
21	Printed Wooden Chair with armrest (White)	3	IDR 102,245.00	IDR 306,735.00
22	Leather Chair (Brown)	1	IDR 121,000.00	IDR 121,000.00
23	Wooden Chair (Brown Cushion)	1	IDR 60,500.00	IDR 60,500.00

24	Wooden Chair with print (light brown)			
		2	IDR 60,500.00	IDR 121,000.00
25	Wooden chair (pink cushion)	1	IDR 60,500.00	IDR 60,500.00
26	Rattan Chair with flower print	2	IDR 121,000.00	IDR 121,000.00
27	Rocking Chair	1	IDR 60,500.00	IDR 60,500.00
28	Wooden Chair with print	2	IDR 60,500.00	IDR 121,000.00

29	Upholstered Chair (Orange)	1	IDR 121,000.00	IDR 121,000.00
30	Queen Size Bed	1	IDR399,300.00	IDR399,300.00
31	Queen Size Bed	1	IDR399,300.00	IDR399,300.00

	Julia 100 - Samuel 100			
32	Queen Size Bed	1	IDR399,300.00	IDR399,300.00
33	King Size Bed	1	IDR423,500.00	IDR423,500.00
34	King Size Bed	1	IDR423,500.00	IDR423,500.00

